Ihe 1
MEEFRIMEIRSAR




TRERE.

HE

i

it,

(3 FEF01S

9

ISBN 7-5301-0209-5

|
|

|
|
8753

|

e
il
102091

NI ES]
£ h M
IR RN T B S

b nib i IS R R
Clesde 7 piis 6439
B3 m g 100011
E] A VI T S S
b A0l W AE T Ol 2
At i el K ERRIT ENRY
-

787 x 10928 ¥ G A 451K 50000%
19904E6 H %8 18 19N ETAH2IR
199 44E7 H 4150 FI A
El#4: 504101-~507100
1SBN7-5301-0209-5/G+ 162
T 2,207

e ng



W 5 ik BA

J] Tﬁ"&%ﬁﬂ;#a”" /5;"51: Z&éiﬂb‘ﬂq%, fﬁéf}—#ikﬁéﬁ Rk )ﬁ

2, B ARITRART T ESF, HANBT TXEDMFHFRIN &

2Jh*£nﬁwm irﬂo

EASRINE D RARE <2 B FRFEF KA GE KA 15T
%wé?k#ﬁb-»-ﬁﬁ%ﬁmoﬁéLvﬁﬁﬂivﬁ%ﬁwa
BALE MRS, AIMGNERATEELKM G T, fL, B
XN KERESH, ARBITFa)4epl, BPIEHFAERZEEN 5212005
7T o

AR A THA T RS ELRETLAL R FATAAC
RIRE A, AL,

B EG— IR AT RV E A T K, RRAZLAMERL, *
WA ALERAIEYREENEL, WER—TH KL E,

ANERCFRAME B A

a8




. —. /MR FIRR
| % 3 -

i . B, 4, BRI,
| 0.5% 2 ' '
Fﬁ 0,125 X
[ 0,373 x
0,625 %
0,876 x
0,25 4 = S
0.08 X 25 = —
0.1%1000=
1.6%50=
49.3%x 1 =

1]
o
"
N
b
<.
X
[y
[e5

= FWH *ﬁﬁﬂ‘f%ﬂ.g

) 0.708% 205

e w o co
L]

2. RS UTEBE,

0.,99x 1 =

o
.
©
w©
X
-]
il

0.99% 3
(2) IREGIIE T2 1A 88,
FHE T IO& 8 i R
s 5 A H A 35 0 VR R UR A
BE.
0.99 %
0.99 %
0,99 %
0.99 X
0.99 X
0.99% 9 =
AR A BB i,
AR R

Ii

0000

0.125

© 3. EFTMSAESUERTE,

(1) ME42x15=630
MMr0,42%16= ¢ )
(6300,630,63,6.3)

(2) 1345203 x 250 = 50750
I4.20.3%x250= ()
(50750, 5075, 507.5,
50,753

i B2 T 3
i

o
Il




1. R HE,
(1) 641,42%?

(2) 12— R% /07

(3) 38f2.03f %7

(4> 18T Z=RE0?

2. BHENXIME.
(1) 960,625

(2) 1050x2,04

ETHEHSAZ $ OB HES” 5§

K .

(1) 732%0,90732

(2) 486x1,3200486

(3) 99%0,99099

(4) 25025x%1,1

(5) 101 %0,95

(6) 1010101 x1,01-
—WRE /DR 62T R 1 B
MR Bh 23, & PR BT
2.5/NiF, ElEZ bRy LR T6.4
IS B W R FBE S DT K ¢

HETHERNERMER, (8
fis K

LI

8.15 .

R LSBT E R 85 M &,
LIRS/ RS, B 4 7 5L

C ) L HTERF/DE R, B
B ¢ D .



g 3 =

BiE24x25=600EBEBEHT EE
BHEE

2,4%X25= 0.24%25=
2.4x2,5= 0,24%x2.5=
2.4X0,25=

0.24%X0,25=

24%2,5= 24%0,25=

HiE376 x16=6016, £ ( ) B
BOE A

( ) X ( ) =60,16

( ) X ( ) =6,016

( ) x ( ) =0.6016

( ) x ( ) =601,6
T & EE RN, N T
¢ ) BE “v” JEE “xX7,
(1) 5,6%x7,1=3,976 C )
(2) 0.18x3,2=5,76 ( )
(3) 10,1%x2,09=2110,9 C )
(4) 0.45%0,24=1,08 C )
VRIS WA K EH.
(B A

0.5 .

N, 6. EBRRXiHE,
0.1x0,2= 0.01 x50 = (1) 1,94%7,5
100x0,1= 12.5%x 8 =
0.3%0.3= 0.25% 8 =
1,1X0.6= 27.6 %10 =
1.2%0,2= 0.1%0,1=

(2) 40.,2x0,15

(3) 0,36%X0,25

(4) 6,25%1,08

3



1, EFRIEFZE RN

(1

2)

L (3)

(4>

8. (1)

(2)

73

it o
0.03%0,03= ( )
£0,9,0.09,0,009, 0,00091

18 x1,04= ( )
187.2, 0.1872, 1,872,
18,723

0,75%0,016= ( )
£0.12,0,012.0,6012, 1,23
30,6%0,025= ( )

£6,0765, 0,765, 7,65,
76.5]

WA T &,
3] r,_‘!
6/ ||
37XJﬁ= :
12 ||
Seis TSR A % R
g g iR 2N, HiRE

EERE, ARS BWTE
FREHIEE S

8. —HICKM it M & 48 700,388
70 KTSTILRA £ It

104 —‘ﬁ'%ﬁl}"ﬁ. I—T‘ﬁ—ﬁ[ﬁ%ﬁo.ﬁ:‘;
B, .
(1) BOMGXFEMBT f, W) LR
e ouiv

C2) 1, 5WixA ey &, WEL
ek L U hfig

(3) 0, 25MiXPERIERT A, AT LA
Rk % i




4.

%
0%,
0,1%X0,9= 0.03%x100=
0.6%X0,7= 8 X0,25=
4,5%X0,2= 8.75%0,.8=
0.1%0,1= 10%x0,01=
0.5X0,5= 1.5% 4 =
TETF PR BsRE W & BERL
1,
| N
1.460|0.93989.7:)02‘!
R =
O B LN
£ B — R Ay
AL e

AR R IE,
(1) 7.8480% H—fi/MEE
( DIR
(7.8 7.84 7.93
(2) 0,395(REWNi/D H
( ) o
£0.39 0,40 0,4
HOE TR 448,
(1) 6.3%2.1 B & E —1
/NED

(2) 0.84%x7.09 (BB ME~—
H/HED

L02%0.39 (18 HLRE W
/MO

(335

FAESL0,7FS %3’*‘%'1 2 3 I
i, 1T RES 275, 138 3F

ey

%14 08714’/\,_“1*%2;!



A%,

1,03% 2 3.2%X0,4=
0.57X 6 8.05%0.,1=
0.09%0,8= 0,02x25=
2.8%0,5=

0.98x1000 =

1,5%X0,6% 5 =
1,1x10%0,5=

L IBEE M,
(1) 1,25% (0,137%0,8)

i

=___|x{__Ix|__]
(2) 6,4X5,6+3,6x5,6
= (__J+—"p x
|
BEEREHE,

(1) 0,4x%56,18%x2,5

(2) 0.25% (100+8)

(3) 70,9%X7,9+70,9%2,1

(4) 0,875%x10,1

4., HETHRE,
(1) 3,206 1,25 x 24

(2) 2,5X7,6%4,02

5. ZEHESHETSE.EBE %K. 62
K, MR B2 2 T 144y &b, 2=
BRIBERL P K?



%= 3} VAN
1. RAZREHE.
2,6X 3 = 92%x0,23= 10,4X20X0,47=
3,24%X 5 = 705%1,2= 7.8%120%0,05=
0,107 8 = 4,5%X0,6= 0.45X 8 X0,65=
0,88%x15= 8.01X8,1= 210x0,3%X0,49=
18%X0,5= 0,56 X0,65= 875%x0,8%X0,25=
2. TREHERMBEE.
HE (F) 1 2 | 3 4 5 l 6. 7 8 9
i
S (Gg) 0,16 | 0,32 | 0,48 | 0,64 | 0,80 ‘ 0.96 | 1,12 | 1,28 | 1,44
EEEN AR CE, UE, FNZHBESLIT?
3. BWEE XL,
56X 2 = 5,6X0,2= 0.56 X0,2=
56X 3 = 5.6%X0,3= 0.56%0,03=
56X 7 = 5.6%0,6= 0.56 X 6 =
56X 8§ = 5.6 X1,5= 0.54%1.4=
56 X 21 = 5.6X0,16= 0,54x3.,2=
4, FRBEPHOER, RBEWELE,
(1) 0,83%x1,8+0,17%x1,8 2) 12,8 (3) 0.5 2
=0,83%0,17x1,8 X 3.5 X 60,4
6490 208
3384 3012
4,4 8 & 30,328



g 3 <+
1. B, 3. WELHERSHBM M BER
2= 3+ 4= LKERRK,

1+4= 3+ 5= 64.8+18 2.3
1+5= 3+ 6= 20.644-43///////////4.8
1+10= 3+8= 177,14 77 0.48
1 +20= 4+5= - 302,4+63 0.23
2+5= 4 + 8= 20.88 + 58 3.8
2+10= 4 +10m= 21.16+92 0.38

2 %20= 5 + 20 = 4. FGICIDARMWFE AT, K IR ST E

2. MR, ' WP, HWEEL 2/MT, R

(1) 336,4+32 B AL k% P io i B e 1Al

' BY 5 R RBFERE, XKEH #T

LREBES /T

(2) 12,25+ 49

5. —&HRL 8 DR HEHE4.4 LT
iR E B X AT
&, 7,40 USHE A B
{3) 78+16



%

1. ERSBEIEHMEG
5,76 +0,24=C )=+24= ( )
18+0,3= ( ) +3= ( )
56,25+0,125=(. - ) +125
=( )
40,96+6,4=( ) *64=( )
2. RS, QEFRRE “v7, &3
By “x” )
(1) j#28,19 K100f%2&2810,
)
(2) EHE0, 037N K, XA
BRI K10 1.
. (G
(3) BR¥EF-K1004%, E FRA
A5, B BRE LYK 10045,

D

(4) 51+0,016=5100+16

=317.5 « >

(5) 3,915+ 0,45=3915+45
=87 D
(6) FAHMER, Fi—/DT 2
B ¢
3. WHTE&E.HARER .
(1) 47,04+56

35

N

(2) 26,46+0,49

(3) 27,3+0,91

F-9
.

.
(1) #8100,.8FMr ik 124y, &
% 0e

(2) 1, 2BEEL£/P54 0,32

5. WIBL EAEMHAES,
MERECRT 1), WOEL B B %t
«C D,
MEREUMT 1), WEEL B BR &K
«C D,



6. & EEENME,

PN —

_ 0 16|
14,4+ ’0 18

10 009; i

i
—
]
J

7. RREH~,
(1) x+0,5=2,6

(2) 16,9+x=1,3

(3) 0.7xx=1,75

8.

10.

BN THSEMHESAD 8,5
P IETT #,

(1) 0,84+12=7
T
12) 0,84
— 84
0

(2> 27,5+0,25=1,1

L1
0,25)27,5
_25

‘t\D o

|
oj‘olm

— HRKHE3. /M) Bl % 47256,5
TR, — R/D#ET4/e € 1794.5
T A /NFET B/ VAT AR B
KR/ RITHE NS S 45

BN ETAEL— Y46 £ F 2% B
AEx, 2.5/0 17254, P i
BAEE—/D T P S D4




£ 3
1. RTEEEOENE.

(1) 10,05+ 32 (BEHRE —1i
INED

(2) 6.26+2.5 UBEU* BH{x
INED

(3) 1.471+0.67 (BHH{EE=
{L/NED

(4) 0.238+1.2 (BB EN
LL/NED

R

HWFE, GERBE 7, 43
H{J@ “X” )

(1)

(2)

3>

(4>

30.0348fREE W Lz DB
30,04, C )

9,621 FE =M /ADEE
9,630, C )

0.187% 0,305 @ =
PE/ANEL 0,057, ()
16,04+6,2, Wik & WAL
BT 45, ()

EERPT RETHER £ K
4,58, E2FEFHRYP 3568,
FEXAT EFERIRY & 8T F7=
BH L0 H GBHEARE WAL/ 0

— AR ZAER24AR T DL A
FEAk 254206, 81, P 1 —A~2E [Bl4E
KA AR AL oM (58L&
B L/ D



%
1. B#E,
10-2,9=  0.34+0.66=
0.1%100= 0.39+0.13=
N 10+100=  0,28+2.8=
} 6 +0,5=  10.3+100=
2.4+0.6= 1,01+0.01=
4.8+1.6= 0.85+0,17=
2. WHETHEEE,HBEZEE FD
L,
(1) 70.7+33
(2) 20+13
5. ETFEMEFNBNE 7 i 5
Hk.
0.5333 -
1,6767wwee
8.3444mmee
2. 404040
5,02727 e
0,90808 ¢~ »
]2
|

AW
LN

RE=
BRI/

+
ETHABIRIEE S B,
0,838 2.5484
4,166 5,71097109+-+*
1.4141 0 8.888
2,05353¢+ 1,732626+
7.069069- 10,410410+x
SRR /N
RFER/N



g.

i

HWE, GERME v, B3R

B{J@l‘ b » )
(1) 0 444D E. ¢ D

(2) Q.02BMI /N, C D
(8) 5.,315815 - & 1B G/

B, WLIEHS.51, € )

(4) 9.866<9.6 € )
Eogiﬁ “>’7 BR “<77 o

(1) 0.6600.6

(2) 0.2300.2333

(3) 0.37Q0,37

(4) 1.08001.0969

3 T T B R S B Y I R HE
3. .

(1) 0.3 0,3 0,33

* @ Py .
(2) 1.121 1.121 1.121

(3) 0.83 0.83 0.83% 0,838

— ARSI NEHERT B 58 H
R—AFmELI064 8, 5% D/
(BEREHENL/DED

10. REZSRMESEEHRT E

LA A4, i — IR & &
TR, WEEE P
B A TN KR O

T L e R EUR I — (L /DD

1 BIEHF N
kR

I
1+3= 2+ 8=
1+6= 2+ 6=
= = 5+ 6=
1+7= o
3+ 7= o7
5+7 = e 7o
1+9= 2+ 9=
3* 8= 4% 9=
S5+9= 6+ 9=
rE9= 8+ 9=
Lail= 2 +11=
3 +11= 45112
5 +11= 6 +11=
7= g +11=
4 +ll= 10+ 11 =

(2) fREe N ERLEAT 4 4
el



% 3 +
A%, GEfRite, A 7 N
B : \ |
1-0.39=  0.5+0.5=
2.7% 3 = 0.5%0,5=
0.34+5,6= 0,5-0=
0.51+17= 0+0,5=
0.1+0,1=  0,5+100=
0.1-0,1=  0,5%x10=
0,1x0,1=  70+100=
0,1+0,1= 5 +1000= s,

R TEAE, fER 8 6 TR

ﬁO

(1) 6,72+0.8%0,07

(2) 6,72+ (0.8%0,07

(3) 3.75+0,125+ 8

(4) 9,9%x9,8+0,9

(5) 0,125%32%X2,5

R

D BEBT S,

= )
l1,7 X1.5 Bl TY SN
0,435 X100 +15
0.08] X0.1 X100
36.4| X 0.5 +0,07_

WEEHER, EFESTE @V
1.25F%13.75 BT 1% B9 ¥ 51,0840
k', MELD?

@ 1.25+13,75%x1,08 ( )
@ 1.25+(13,75%x1,08) ( )
® 13,75+1,25x1,08 ¢ )
@ 13,75%x1,08+1,25 ( )
® 13,75+ (1.25%1,08) ( )
® 1,08%X13,75+1.,25 ( )

H-TEAE—KKS2.5T R I
Tk MTFLOFRBE




